[This question paper contains 4 printed pages.]

Sr.No. of Question Paper : 2301 GC-3 Your Roll No................
Unique Paper Code : 62414334

Name of the Paper : Financial Management

Name of the Course : B.A. (Prog) Accounting and Finance (CBCS)
Semeé&:r : III

Duration : 3 Hours _ Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt any five questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the same medium should
be used throughout the paper.
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1. (a) Explain “Profit Maximization” and “Wealth Maximization” goals. Which is

superior in your opinion for financial decision making? (10)
(b) What do you understand by Risk and Return? )
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2. (a)
(b)

2
What is capital budgeting decision? Why is its significant for a firm?  (7)

ABC Ltd. is planning to start a project which requires an initial outlay of Rs.
1,00,000 on the purchase of a machine having a life of 5 years. It is expected
to generate year ending profit (before depreciating and taxes) of Rs. 50,000,
Rs. 30,000, Rs. 20,000 Rs. 30,000 and Rs. 40,000 from the end of first
year to the end of fifth year. Assuming that the company pays income
tax@40% and uses Straight line method of depreciation with no salvage,
you are required to compute:

(i) Pay Back Period

(ii) Average Rate of Return (8)
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3. (a) Whatis the cost of capital? How is it important in financial decision making? @)
(b) Find the weighted average cost of capital through book value and market
value when the following information is provided.
Source Book Value Rs. Specific Cost | Market Value Rs.
Equity Share 15,00,000 15% 27,00,000
Preference Share 10,00,000 12% 11,00,000
Debt 5,00,000 10% 6,00,000
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A firm has sales of Rs. 15,00,000 variable cost of Rs. 8,40,000 and fixed cost

of Rs. 1,20,000. It hasa debt of Rs. 9,00,000 at 9 percent and equity of Rs.
11,00,000.

() What is the firm’s ROI (Return of Investment)?
(i) What are the Operating and Financial Leverage of the firm?
(i) If the Sales drop to Rs. 9,00,000. What will be the new EBIT? Verify. (15)
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(a) Enumerate the main assumptions of the “Net Income approach of Capital
Structure. Is there an optimum capital Structure as per this approach.” (7)

(b) Give a critical appraisal of Modigliaani - Miller Approach to the theory of
capital structure. (8)
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6. (a) What are the objectives of Inventory Management? What are the costs
associated with inventory management. @)

(b) Explain briefly the following:
(i) Credit policy
(i) Credit Terms :. _ 8)
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7. (a) Explain briefly the factors which influence the divided policy of a firm. What
are the advantages of stable dividend policy? ®)

(b) The earning per share of the face value of Rs. 100 of PQR Ltd. is R. 20/-.
It has a rate of return on investment of 25 percent. Capitalization rate of its
risk class is 12.5 percent. If Walter‘s model is used:

() What would be the optimum payout ratio? @)
(i) What should be the market price per share if the payout ratio is Zero?
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(i) ¥ IMST I (optimum payout ratio) T B ?
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